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BACHELOR’S DEGREE PROGRAMME
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(Application Oriented Course)
AEC-01 : ENVIRONMENTAL CHEMISTRY

Time : 3 Hours Maximum Marks : 100

Note : (i) Attempt all questions.

(it) The marks for each question are given

against it.

1. (a) Fill in the blanks in any five of the
following : 1x5=5

(1) All forms of water in atmosphere are

classified as .............

(i1) Concentration of pollutants

with increase in wind speed.

(i11) The element that regulates K/Ca

concentration in soil is ............

P.T.O.



[2] AEC-01

(iv) SAR stands for ................

(v) Density of ice is ............ than that of
water due to its structure.

(vi) A plume having a wavy character is
called .....ccccceee.. .

(b) Define any five of the following : 1x5=5
(1) Soil profile
(11) Water quality criteria
(1) BOD
(iv) Global warming potential
(v) Planktons
(vi) Rodenticide
(c) Answer any five of the following : 2x5=10

(1) Name any two organisms which take
part in  biological process  of
weathering.

(11) In water, ammonia gas is more soluble

than nitrogen gas. Explain.
(i11) What is an API oil separator ?

(iv) What is the significance of the soil
colour ?

(v) What is a reference electrode ?

(vi) What is an indicator organism ?

2. Answer any four of the following : 4%x5=20

(a) Describe soil horizons.



3.

(b)

(©

(d)

(e)
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What type of information is obtained by
the determination organic matter in
sewage ?

What is biomonitoring ? Write its
advantages in monitoring of water quality.

What are the advantages of membrane
filter technique in the analysis of water ?

Enlist the various types of wastes
generated from the dairy industry.

What is ozone layer depletion and what are
its effects ?

Answer any four of the following : 5x4=20

(a)

(b)

(c)

(d)

Why are nematodes agriculturally very
important ? Explain.

Explain the terms reverse osmosis and

electrodialysis giving suitable examples.

Draw a schematic diagram of a single
beam photometer. Write its advantages
and limitations.

During  Chemical Oxygen Demand
determination, 20 cc of the water sample
requires acidified potassium dichromate
that is equivalent to 29.9 cc of 0.1 M
ferrous ammonium sulphate solution.
Calculate COD.

P.T.O.
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(e) Define pesticides. Give any four
characteristics of an 1deal pesticide.

(f) Write any five precautions required for
collecting samples for analysis.

Answer any four of the following : 5x4=20

(a) Define chromatography. Describe the
principle and procedure of thin layer
chromatography.

(b) Explain the following terms :

(i) Global warming
(i1) Ventilation coefficient

(c) What are heavy metals ? Give their toxic
effects.

(d) What 1is integrated pest management ?
Discuss its advantages over conventional
methods of pest control.

(e) How does soil get polluted ? Discuss
briefly.

() How does acid rain occur ? What are its

adverse effects ?

Write short notes on any four of the following :

(a)
(b)
(c)
(d)
(e)
®

5x4=20
Solvent extraction
Glass electrode
Air Quality Index
Complexometric titrations
Law of diminishing return

pH-metry
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